Pre-Calculus Worksheet





Name: __________________

#8 Intro to Limits








Period: _____

A) Complete the table and use your result to estimate the limit numerically.  
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 B) Graph the function, C) then, find the limit algebraically (substitution, or cancellation).
	1. 
[image: image1.wmf]3

lim(43)_________

x

x

®

-=

 =        [image: image56.emf]-8-6-4-2 2 4 6 8

-8

-6

-4

-2

2

4

6

8

x

y


x

2.9

2.99

2.999

3

3.1

3.01

3.001

y

B)                                          C)

	2. 
[image: image2.wmf]2

1

lim(24)_________

x

xx

®-

+-=


x

-1.1

-1.01

-1.001

-1

-.9

-.99

-.999

y

B)                                        C)                     


	[image: image57.emf]-8-6-4-2 2 4 6 8

-8

-6

-4

-2

2

4

6

8

x

y

3. 
[image: image3.wmf]2

3

3

lim________

9

x

x

x

®

-

=

-


x

2.9

2.99

2.999

3

3.1

3.01

3.001

y

B)                                          C)

	4. 
[image: image4.wmf]2

1

2

lim________

1

x

xx

x

®-

--

=

+



[image: image5.wmf]x



[image: image6.wmf]1.1

-



[image: image7.wmf]1

-



[image: image8.wmf]0.9

-



[image: image9.wmf]y


B)                                            C)


	[image: image58.emf]-8-6-4-2 2 4 6 8

-8

-6

-4

-2

2

4

6

8

x

y

5. 
[image: image10.wmf]2

2

2

lim________

68

x

x

xx

®-

+

=

++

A


[image: image11.wmf]x



[image: image12.wmf]2

-



[image: image13.wmf]y


B)                                         C)

	6. 
[image: image14.wmf]4

3

lim________

4

x

x

®

=

-



[image: image15.wmf]x


4


[image: image16.wmf]y


B)                                         C)



Find the limit using direct substitution.  You may need to factor and simplify 1st! SHOW YOUR WORK.
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Use the graph of each function to state the value of each quantity, if it exists.
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The following is the graph of 
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